Bl

r
110116

£1(x)=1000000- (1

_e—0.025-x)

713495.

1.6

Done

15163.3
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B2

71(0)

solve (f] (x)ZO,x)

71 (x):zﬁ(ﬁ ()
71 (x)
solve (ﬂ“] (x)zo,x)

71(0)
f1(-1)

x=== or x=0

Done

6- x2+6- X

x=-1 or x=0

0

1

539
32

16.8433

Y
r4

¢
5
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eSS
3.46 ~ los 654
‘2.08:
B3
binomCdf(10,0.0495,0,1) 0.91535
binomCdf(10,0.915,5,5) 0.000717
binomCdf(5,0.915,5,5) 0.641365
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B4

170- ©

155-
> 1401 ®

125- O

1104 @

I I I I I I
25 30 35 40 45 50 55 60 65 /70 75 80
Xi

® A xi Byj C D E Fy
= =LinRegM

1 30 109 Title Linear R...

2 40 125 RegEgn 'm*x+b

3 50 138 m 1.26

4 60 150 b 73.5333

5 70 163 2 0.994084

6 80 172 r 0.997038

7 Resid {-2.3333...

</ I 5]

“AI | 30 I
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>

® |A xi1 B yil D E F
- =TwoVar(;
1130 109 Title Two-Va...
2 40 125 X 40.
3 50 138 > X 120.
4 2 X2 5000.
5 SX := Sn-... 10.
6 OX := On...| 8.16497
7 n 3.
8 y 124.
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® |A xi2 Byi2  [C D E

= =TwoVar(

1 60 150 Title Two-Va...

2 70 163 X 70.

3 80 172 > X 210.

4 > X2 14900.

3 SX = Sn-... 10.

6 OX := On...| 8.16497

7 n 3.

8 y 161.667
<] I 5]

D

Ax):=1.26- x+73.53 Done

solve(/(x)=140.x) x=52.754

solve({m. 40+p=124 ,{m,p} m=1.26667 and p=73.3333
m- 70+p=162

1.27- 31+73.33 112.7

A31) 112.59
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